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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Cost Accounting ? Discuss in detail that on 

what aspects the cost accounting is different from the 

financial accounting. 

ykxr ys[kkadu D;k gS \ ykxr ys[kkadu] foŸkh; ys[kkadu 

ls fdu i{kksa esa fHkUu gS] bldh foLrkj ls ppkZ dhft,A 

2. Explain the different methods of absorption of 

administrative overheads. What method would you 

prefer and why ? 

iz’kklfud mifjO;;ksa ds vo’kks”k.k dh fofHkUu i)fr;ksa dh 

O;k[;k dhft,A buesa ls vki dkSu&lh i)fr dks ojh;rk 

nsaxs vkSj D;ksa \ 

3. Discuss the various incentive wage schemes. Also 

discuss the merits and demerits of each scheme. 

fofHkUu izksRlkgu etnwjh i)fr;ksa ij ppkZ dhft,A lkFk gh 

izR;sd i)fr ds xq.k rFkk nks”kksa ij Hkh ppkZ dhft,A 

4. Explain with example the following methods of pricing 

issues material : 

(a) FIFO 

(b) LIFO 

(c) Weighted Average 

Under the conditions of rising prices which of these 

methods would you recommend and why ? 
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fuxZr lkexzh ds ewY; fu/kkZj.k dh fuEufyf[kr fof/k;ksa dks 

mnkgj.k lfgr le>kb;s % 

¼v½ QhQks 

¼c½ yhQks 

¼l½ Hkkfjr vkSlr 

c<+rh dherksa dh ifjfLFkfr esa vki fdl fof/k dh laLrqfr 

djsaxs vkSj D;ksa \ 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. A  producer has estimated annual purchase 

requirement of 30000 units of a material. Unit price of 

material is ` 50. Annual cost of carrying inventory is 

20%. Ordering cost for an order is ` 60. Find out 

Economic Order Quantity (EOQ). 

,d fuekZrk us ,d lkexzh dh 30000 bdkb;ksa dk okf”kZd 

Ø; vko’;drk dk vuqeku yxk;kA lkexzh dk bdkbZ ewY; 
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` 50 gSA LdU/k dk okf”kZd /kkfjr ykxr 20% gSA ,d 

vkns’k dh vkns’ku ykxr ` 60 gS] rks ferO;;h ¼vkfFkZd½ 

vkns’k ek=k (EOQ) dh x.kuk dhft,A 

2. Discuss the functions and responsibilities of 

Storekeeper. 

HkaMkj j{kd ds dk;ks± rFkk dŸkZO;ksa ij ppkZ dhft,A 

3. Explain ABC analysis. Discuss its merits. 

,- ch- lh- fo’ys”k.k dh O;k[;k dhft,A blds xq.kksa ij ppkZ 

dhft,A 

4. What do you mean by absorption of overheads ? 

mifjO;;ksa ds vo’kks”k.k ls vki D;k le>rs gSa \ 

5. What is cost sheet ? In what respect it differs from 

production account ? 

ykxr i=d D;k gS \ mRiknu [kkrs ls ;g fdl rjg ls 

fHkUu gS \ 

6. Discuss the term “Split-off”. What is its significance in 

product costing ? 

ßfLIyV&vkWQÞ ‘kCn ij ppkZ dhft,A mRikn dh ykxr esa 

bldk D;k egRo gS \ 

7. Discuss job evaluation. What are the objectives of job 

evaluation ? 

dk;Z ewY;kadu ij ppkZ dhft,A dk;Z ewY;kadu ds D;k 

mís’; gSa \ 

8. What are the causes of discrepancies in stock records ?  

LdU/k vfHkys[kksa ¼LVkWd fjdkWMZ~l½ esa folaxfr;ksa ds D;k dkj.k 

gSa \ 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. Cost accounting is not needed by a non-profit 

organization such as schools. 

Ldwy tSlh xSj&ykHkdkjh laLFkk esa ykxr ys[kkadu dh 

vko’;drk ugha gksrhA 

2. The method of costing used in the refinery is „Process 

Costing‟. 

ifj’kks/ku’kkyk ¼fjQkbujh½ esa mi;ksx dh tkus okyh ykxr 

i)fr ^izfØ;k ykxr* dgykrh gSA 

3. Normal losses of material cannot be completely 

avoided but can be controlled to a limited extent. 

lkexzh ds lkekU; uqdlku dks iwjh rjg ls Vkyk ugha tk 

ldrk gS ysfdu lhfer lhek rd fu;af=r fd;k tk ldrk 

gSA 

4. Under piece rate system wages are paid according to 

quantity of work done. 

dk;kZuqlkj nj ds rgr etnwjh dk Hkqxrku dk;Z dh ek=k ds 

vuqlkj fd;k tkrk gSA 
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5. Sum of all direct costs is called overheads. 

lHkh izR;{k ykxrksa ds ;ksx dks mifjO;; dgrs gSaA 

Fill in the blanks. 

fjDr LFkkuksa dh iwfrZ dhft,A 

6. Incentive wage plans is a compromise between .......... 

and systems. 

izksRlkgu etnwjh ;kstuk 
----------------------------

 vkSj 
----------------------------

 ds chp 

le>kSrk gSA 

7. The total of all direct costs is known as .............. .  

lHkh izR;{k ykxrksa ds ;ksx dks 
----------------------------

 dgrs gSaA 

8. Under .............. system of wage payment workers are 

paid according to time for which they work. 

----------------------------
 i)fr ds vUrxZr Jfedksa dks etnwjh Hkqxrku 

mrus le; ds fy, vnk fd;k tkrk gS ftrus le; fy, og 

dke djrs gSaA 

9. ................. refers to sudden loss in value of an asset 

due to change in technology. 

izkS|ksfxdh cnyko ds dkj.k ifjlEifŸk ds ewY; esa vk;s 

vpkud uqdlku dks 
----------------------------

 dgrs gSA 

10. Increase in productivity results in lower .............. cost. 

mRikndrk esa òf) de 
----------------------------

 ykxr dk ifj.kke gSA 
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